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For if he would want he could take it out - 79 YpDn WA INT

Overview

The X713 is trying to prove that 78 7°nw X 73 7R, for if 728 77°nw,! why is the ruling
that in a case where one stole a purse on n2w and dragged it from the *"77 to the 7"
he is Mwd from paying since he is i1 21 for NAw 7171 of AX¥IT simultaneously
with the 72°13 M0°X. The X3 asks even if we are discussing that he dragged it by the
bottom of the purse (so he cannot take out the money from the opening), nevertheless
he can tear the seam and take out the money, so the 712°13 M10°X precedes the TOX
naw. Our MdoIN clarifies this question.
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It is the view of the >''9 that their purses in those days were not sewn as strongly

as our purses arc -
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So therefore the X711 asks that he tear the purse from the place of the seam (which
is not so strong), but not from any other place, which is more difficult to tear.

Summary
It is easier to tear the seam than to tear the purse (especially in those days).

Thinking it over
Is moon explaining that the X asks 7750 23p»n and not from anywhere else,

because practically it is very difficult to do so (however the real question is that he
can tear the purse from anyplace), or is 9010 telling us that if it is that difficult, then
there would be no question (for he is certainly not 7117)?

! The rule is that one is not liable for mwa% mMwn 787 until the entire item is placed in the new MwA. The issue of
93 72X is regarding one who partially removes a utensil with items inside. Some of these items are found in the new
mwn, while the ¥93 is still in the process of being transferred between the two n»wA. If we maintain 73R 71w "9 73X,
there is no 21’1 for these items which were taken out in the 73, until the entire *3 is taken out. However if we say X7
AR MW, one is 21 for the items in the *22, which were taken out. The word 73 means binding or attached. 22 7ax
AR 7°nw means the fact that the items are in the °73, binds them to the *23 and they are part of it.
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